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The "cheat," here, is to narrow down your guesses with some kind of 
graphing utility.  This will allow us to combine technology and our knowledge 
of rational zeros to break f down all the way (Split it into linear factors).

Desmos is telling us x = ­7, 0.75, and 1 are zeros.  For our work, we will 
convert the 0.75 to 3/4.  Now, we divide by (x + 7), (x ­ 1), and then (x ­3/4).
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This isn't exactly what it looks like, but it captures the shape and the x­ and y­
intercepts.  By the time you made it tall enough to include the actual maximum, 
the scale would be too large to see x = 1 and x = 3/4 as separate points, let alone 
any part of the graph that's below the x­axis, even though we know there's a 
tiny bit there under the x­ axis between x = 3/4 and x = 1.
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Zeros:  

Finally, end behavior.  Any horizontal or slant asymptotes?

What happens when x is very far to the left or very far to the right of the y­
axis?

The degree of the numerator and denominator are the same.  Easiest is to 
just divide the leading coefficients, as if the lower­degree terms don't exist.

There are other ways of doing this, for instance, dividing through numerator 
and denominator by x^2.

Domain:
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Combine this work:

This is plenty to graph the whole thing, since we know all the factors associated 
with zeros and asymptotes are to the first power, because 1 is an odd number, 
so we know the sign of the graph changes at each of the cut points:

You know it's positive far right and far left by the horizontal asymptote.

Also, the multiplicity of all the factors/zeros is 1, so sign changes across all of 
the cut points.

Finally, the y­intercept of ­ 8.4 or ­ 42/5, which confirms the negative sign 
between x = ­1 and x = 12/5.  This is enough to obtain a rough sketch, by 
combining with the intercepts and asymptotes we created.
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This didn't have the wiggle I was expecting, off to the right, but we have at least one crossing of 
the horizontal asymptote by the graph.
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To reveal the x ­ c, we divide the denominator by x + 1.  That'll reduce finding c to solving a 
quadratic equation:

2.245454545
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­38.55555556
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